>

[0 0131
> taylor(exp(x),x=0,4)

L+x+ 424+ 2 +0(:")

2 6
[ > p3 = convert( %, polynom)
1 2 1 3
=1 — —
I p3 +x+ 5 + i
> taylor(exp(x),x=0,7)
1 2,1 3, 1 4 1 s 1 6 7
1+x+2x+6 +24x+120x+720x+0(x)

B pb6 = convert( %, polynom)
_ Lol a1 s 1 &
p6-—1+x+2x+6x+24x+120x+720x

[ > taylor(exp(x),x=0,10)
Lo, 1, boa, 1 s
1+x—|—2 +6x+24x+120x+720x—|—

1 9 10
i 32880 © TOL)

> p9 = convert( %, polynom)

! 6 I x7 + 1 x8
5040 40320

+

1 2 1 3 1 4 1 5 1 6 | 7 1
9:=1 - - - —
p X Y Y T 0 Y T 0 Y T S0a0 ¥ T 40320 *
1 9
* 362880 *

> plot([exp(x), p3, p6,p9],x=0..10, legend = ["exp(x) ", "p3 ", "p6 ", "p9"])
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